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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] 

vU;Fkk ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftueas ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA 

ÁR;sd Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj 

lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 
ANSWER SHEET)esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA 

;fn fdlh ijh{kkFkhZ }kjk fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy 

fd;s x;s ÁFker% ;Fkk fufnZ”V Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s 

tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus 

gSaA mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh fljht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 

tc rd dgk u tk;] bl Á’uiqfLrdk dks u [kksysa 
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1. …………. is the removal or reduction 

of restrictions or barriers on the free 

exchange of goods between Nations : 

(A)   Anti Dumping 

(B) Privatisation 

(C) Liberalisation 

(D) None of these 

 1. ------------------- jk”Vªksa ds chp eky ds eqDr 

vknku&iznku ij izfrca/kksa ;k ck/kkvksa dks 

gVkuk ;k de djuk gS %  

(A) ,aVh Mafiax 

(B) futhdj.k 

(C) mnkjhdj.k 

(D) buesa ls dksbZ ugha 

2. Regarding the International Monetary 

Fund, which one of the following 

statement is correct :  

(A)   It can grant loans to any Country 

(B) It can grant loans to only 

developed Countries 

(C) It grant loans to only member 

Countries 

(D) All of the above correct 

 2. vUrjkZ”Vªh; eqnzk dks”k ls lEcfU/kr dkSu 

lk dFku lgh gS %  

(A) ;g fdlh Hkh jk”Vª dks _.k ns 

ldrk gSA  

(B) ;g dsoy fodflr jk”Vªksa dks _.k 

ns ldrk gSA 

(C) ;g dsoy lnL;k ns’kksa dks _.k ns 

ldrk gSA 

(D) mi;qZDr lHkh lgh gSaA 

3. What are the parameters to become a 

member of the UNO : 

(A)   It must be a State, it must be 

peace loving  

(B) It must accept the obligations to 

the charter, it must be willing to 

carry out these obligations   

(C) It must be able to carry out these 

obligations  

(D) All of the above 

 3. la;qDr jk”Vª la?k dk lnL; cuus ds fy, 

D;k ‘krsZ gSa %  

(A) mls ,d jkT; gksuk pkfg, ,oa 

‘kkfUr fiz; gksuk pkfg,A 

(B) mls la?k ds pkVZj ds izfr izfrc) 

gksuk pkfg,] mls la?k dh ‘krsZ 

ekuus dk bPNqd gksuk pkfg,A 

(C) mls vfuok;Zr% la?k ds dÙkZO;ksa dk 

ikyu djuk pkfg,A 

(D) mi;ZqDr lHkh 
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4. UNESCO stand for : 
(A)   United Nations Educational, 

Scientific and Cultural 
Organization  

(B) United Nations Economic, 
Scientific and Cultural 
Organization 

(C) United Nations Educational, 
Social and Cultural Organization 

(D) United Nations Economic, 
Social and Cultural Organization 

 4. UNESCO dk iw.kZ :i  gS % 
(A) ;wukbVsM us’kUl ,twds’kuy] 

lkbfUVfQd ,.M dYpjy 
vkxZukbts’ku 

(B) ;wukbVsM us’kUl bdksukWfed] 
lkbfUVfQd ,.M dYpjy 
vkxZukbts’ku 

(C) ;wukbVsM us’kUl ,twds’kuy] lks’ky 
,.M dYpjy vkxZukbts’ku 

(D) ;wukbVsM us’kUl bdksuksfed] lks’ky 
,.M dYpjy vkxZukbts’ku 

5. UNESCO was born on : 

(A)   16 November 1945 

(B) 16 November 1965 

(C) 16 November 1985 

(D) 16 November 1999 

 5. ;wusLdks(UNESCO) vfLrRo esa vk;k % 

(A) 16 uoEcj 1945 dks 

(B) 16 uoEcj 1965 dks 

(C) 16 uoEcj 1985 dks 

(D) 16 uoEcj 1999 dks 

6. In which year International Labour 
Organization (I.L.O.) became a 
specific agency of U.N.O. :  
(A)   1942 
(B) 1944 
(C) 1946 
(D) 1950 

 6. vUrjkZ”Vªh; Je laxBu (I.L.O.) fdl 
o”kZ la;qDr jk”Vª la?k dk fof’k”V vfHkdj.k 
cuk % 
(A) 1942 
(B) 1944 
(C) 1946 
(D) 1950 

7. The Headquarters of the 
‘International Labour Organization’ is 
located at :   
(A)   Rome  
(B) Geneva 
(C) Paris 
(D) London 

 7. vUrjkZ”Vªh; Je laxBu dk eq[;ky; dgk¡ 

gS % 

(A) jkse  

(B) tsusok 

(C) isfjl 

(D) yanu 
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8. Which year was I.L.O. established : 

(A)   1905 

(B) 1917 

(C) 1919 

(D) 1945 

 8. vkbZŒ ,yŒ vksŒ (ILO) dh LFkkiuk fdl 

o”kZ gqbZ Fkh % 

(A) 1905 

(B) 1917 

(C) 1919 

(D) 1945 

9. Where is the Headquarters of 
UNESCO : 
(A)   Rome 
(B) Geneva 
(C) Paris 
(D) Washington 

 9. ^;wusLdks* dk eq[;ky; dgk¡ gS % 

(A) jkse  

(B) tsusok 

(C) isfjl 

(D) okf’kaxVu 

10. Which is not an economic 
organization : 
(A)   World Bank 
(B) W.T.O 
(C) I.M.F. 
(D) UNICEF 

 10. buesa ls dkSu lk ,d vkfFkZd laxBu ugha 
gS % 
(A) fo’o cSad 
(B) MCY;wŒ VhŒ vksŒ 
(C) vkbZŒ ,eŒ ,QŒ 
(D) ;wuhlsQ 

11. World Health Organization (WHO) 
has declared India free from which of 
the following diseases : 
(1)   Maternal and neonatal tetanus 
(2) YAWS 
(3) Polio 
(4) Small Pox 
Select the correct option from codes 
given below : 
(A)  2, 3 & 4 
(B)  3 & 4 
(C)  1, 3 & 4 
(D)  1, 2, 3 & 4 
 

 11. fo'o LokLF; laxBu ¼WHO½ us Hkkjr 
dks fuEufyf[kr esa ls fdl jksx ls eqDr 
?kksf”kr fd;k gS % 
(1) ekr ̀,oa uotkr VsVul 
(2) ;kl 
(3) iksfy;ks 
(4) pspd 
uhps fn;s x;s dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
(A) 2, 3, vkSj 4 
(B) 3 vkSj 4 
(C) 1, 3 vkSj 4 
(D) 1, 2, 3 vkSj 4  



Series-D B.A.LL.B601/ 383 Page - 6 

12. Who had taken charge as the 

chairman of W.H.O’s executive board 

from May 2020: 

(A)   Preeti Sudan 

(B) Harsh Vardhan 

(C) K. K. Shailza  

(D) Randeep Guleria 

 12. ebZ 2020 ls fo’o LokLF; laxBu 

¼WHO½ ds dk;Zdkjh cksMZ ds v/;{k ds 

:i esa fdlus dk;ZHkkj laHkkyk % 

(A) izhfr lwMku 

(B) g”kZ o/kZu  

(C) dsŒ dsŒ ‘kSytk 

(D) j.knhi xqysfj;k 

13. The idea of IMF was initiated at 

the……………. conference : 

(A)   Bretton Woods Conference 

(B) GATT 

(C) Uruguay Round Negotiation 

(D) None of these 

 13. vkbZŒ ,eŒ ,QŒ ¼IMF½ dk fopkj-------------

----------- lEesyu esa ‘kq: fd;k x;k Fkk % 

(A) czsVu oqM~l lEesyu 

(B) xSV 

(C) m:Xos nkSj dh ckrphr 

(D) buesa ls dksbZ ugha 

14. If the Balance of payment of a 
country is adverse, then which 
institution will help that country :  
(A)   International Monetary Fund 
(B) World Bank 
(C) World Trade Organization 
(D) Asian Development Bank 

 14. ;fn fdlh ns’k dk Hkqxrku larqyu 

izfrdwy gS] rks dkSu lh laLFkk ml ns’k 

dh lgk;rk djsxh % 

(A) vUrjkZ”Vªh; eqnzk dks”k 

(B) fo’o cSad 

(C) fo’o O;kikj laxBu 

(D) ,f’k;kbZ fodkl cSad 

15. Where is the Headquarters of IBRD 

located : 

(A)   Paris 

(B) Vienna 

(C) London 

(D) Washington D. C. 

 15. vkbZŒ chŒ vkj0 MhŒ ¼IBRD½ dk 

eq[;ky; dgk¡ fLFkr gS % 

(A) isfjl 

(B) fo;uk 

(C) yanu 

(D) okf’kaxVu MhŒ lhŒ 
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16. Which year was IBRD established : 

(A)   1944 

(B) 1955 

(C) 1965 

(D) 1995 

 16. vkbZŒ chŒ vkj0 MhŒ ¼IBRD½ dh 

LFkkiuk fdl o”kZ gqbZ Fkh % 

(A) 1944 

(B) 1955 

(C) 1965 

(D) 1995 

17. The Headquarters of International 
Court of Justice is :  
(A)   Geneva 
(B) New York 
(C) The Hague 
(D) Paris 

 17. vUrjkZ”Vªh; U;k;ky; dk eq[;ky; fLFkr 
gS % 
(A) tsusok esa 
(B) U;w;kdZ esa 
(C) gsx esa 
(D) isfjl esa 

18. Where is the main office of United 
Nations : 
(A)   Hague 
(B) New York 
(C) Geneva 
(D) Washington 

 18. la;qDr jk”Vª la?k dk eq[; dk;kZy; dgk¡ 
gS % 
(A) gsx 
(B) U;w;kdZ 
(C) tsusok 
(D) okf’kaxVu 

19. Who gave the name ‘United Nations’: 
(A)   Franklin D. Roosevelt 
(B) Nixon 
(C) Stalin 
(D) Churchill 

 19. ^la;qDr jk”Vª* uke fdlus fn;k % 

(A) Ýsadfyu MhŒ :tosYV 

(B) fuDlu 

(C) LVkfyu 

(D) pfpZy 

20. On which date did the U.N.O. adopt 
the Universal Declaration of Human 
Rights : 
(A)   20th October, 1945 
(B) 24th October, 1945 
(C) 26th November, 1945 
(D) 10th December, 1948 

 20. fdl frfFk dks la;qDr jk”Vª la?k us ekuo 

vf/kdkjksa ds lkoZHkkSfed ?kks”k.kk&i= dks 

Lohdkj fd;k % 

(A) 20 vDVwcj] 1945 

(B) 24 vDVwcj] 1945 

(C) 26 uoEcj] 1945 

(D) 10 fnlEcj] 1948 
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21. How many permanent members are 

there in the security council : 

(A)   3 

(B) 4 

(C) 5 

(D) 6 

 21. lqj{kk ifj”kn esa fdrus LFkk;h lnL; gSa % 

(A) 3 

(B) 4 

(C) 5 

(D) 6 

22. Who is General Secretary of United 

Nations Organization at present : 

(A)   Kofee Annan 

(B) Butras Ghali 

(C) Antonio Guterres 

(D) U. Thant 

 22. la;qDr jk”Vª la?k ds orZeku egklfpo 

dkSu gSa %   

(A) dksQh vUuku 

(B) cqrjl ?kkyh 

(C) ,aVksfu;ks xqVsjsl 

(D) ;wŒ FkkaV 

23. What is the main responsibility of the 

security council according to the 

United Nations Charter : 

(A)   To maintain International peace 

and security 

(B) To maintain war 

(C) Collective security 

(D) Co-operate each other 

 23. la;qDr jk”Vª ?kks”k.kk i= ds vuqlkj lqj{kk 

ifj”kn dh eq[; ftEesnkjh D;k gS % 

(A) vUrjkZ”Vªh; ‘kkafr ,oa lqj{kk dk;e 

j[kuk 

(B) ;q) dks dk;e j[kuk 

(C) lkewfgd lqj{kk 

(D) ,d nwljs dk lg;ksx 

24. How many members dose the 

Economic and Social Council have : 

(A)   15 

(B) 26 

(C) 36 

(D) 54 

 24. vkfFkZd ,oa lkekftd ifj”kn esa fdrus 

lnL; gksrs gSa % 

(A) 15 

(B) 26 

(C) 36 

(D) 54 
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25. How many countries of the World are 

members of U.N.O. in present time : 

(A)   190 

(B) 193 

(C) 195 

(D) None of these 

 25. fo'o ds fdrus jk”Vª orZeku esa la;qDr 

jk”Vª la?k ds lnL; gSa % 

(A) 190 

(B) 193 

(C) 195 

(D) buesa ls dksbZ ugha 

26. Which of the following is not a organ 
of United Nations Organization : 
(A)   General Assembly 
(B) Security Council 
(C) European Union 
(D) International Court of Justice 

 26. fuEufyf[kr esa ls dkSu lk ,d la;qDr 
jk”Vª la?k dk vax ugha gS % 
(A) egklHkk 
(B) lqj{kk ifj”kn 
(C) ;wjksfi;u la?k 
(D) vUrjkZ”Vªh; U;k;ky; 

27. The number of principal organs of 
UNO is : 
(A)   4 
(B) 5 
(C) 6 
(D) 8 

 27. la;qDr jk”Vª la?k ds eq[; vaxksa dh la[;k 
gS % 
(A) 4 
(B) 5 
(C) 6 
(D) 8 

28. The UN Secretary General holds 
office for a period of : 
(A)   1 years 
(B) 3 years 
(C) 5 years 
(D) 7 years 

 28. la;qDr jk”Vª la?k egklfpo dk dk;Zdky 

gksrk gS % 

(A) 1 o”kZ 

(B) 3 o”kZ 

(C) 5 o”kZ 

(D) 7 o”kZ 
29. The Secretary General of the UNO is 

appointed by the : 
(A)   World Bank 
(B) Trusteeship Council 
(C) Security Council 
(D) General Assembly 

 29. la;qDr jk”Vª la?k ds egklfpo dh fu;qfDr 

dh tkrh gS % 

(A) fo’o cSad }kjk 

(B) VªLVhf’ki dkmfUly }kjk 

(C) lqj{kk ifj”kn }kjk 

(D) egklHkk }kjk 
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30. Which of the following Nation is not 
a permanent member of security 
council : 
(A)   India 
(B) China 
(C) Britain 
(D) United States of America 

 30. fuEufyf[kr esa ls dkSu lk ns’k lqj{kk 

ifj”kn~ dk LFkk;h lnL; ugha gS %  

(A) Hkkjr  

(B) phu 

(C) fczVsu 

(D) la;qDr jkT; vesfjdk 

31. United Nations Organization was 
established in : 
(A)   24th October 1945 
(B) 24th November 1945  
(C) 24thDecember 1945 
(D) 30th December 1945 

 31. la;qDr jk”Vªla?k dh LFkkiuk gqbZ % 

(A) 24 vDVwcj 1945 

(B) 24 uoEcj 1945 

(C) 24 fnlEcj 1945 

(D) 30 fnlEcj 1945 

32. In which year League of Nations was 
abolished : 
(A)   1924 
(B) 1933 
(C) 1939 
(D) 1946 

 32. jk"Vªla?k fdl o”kZ lekIr gqvk % 

(A) 1924 

(B) 1933 

(C) 1939 

(D) 1946 

33. What is the correct chronological 
order of the events listed below? 
Select the correct answer from the 
codes :  
(1)   Establishment of U.N.O. 
(2) Establishment of NAM 
(3) Establishment of League of 

Nations 
(4) Establishment of NATO 
(A) 4, 3, 2, 1 
(B) 1, 2, 3, 4 
(C) 2, 3, 1, 4 
(D) 3, 1, 4, 2 

 33. uhps nh x;h ?kVukvksa dk lgh dkyØe 

D;k gS \ dwV }kjk lgh mÙkj dk p;u 

dhft, % 

(1) la;qDr jk”Vª dh LFkkiuk 

(2) xqV fujis{k vkUnksyu dh LFkkiuk 

(3) jk”Vªla?k dh LFkkiuk 

(4) ukVks dh LFkkiuk 
(A) 4, 3, 2, 1 
(B) 1, 2, 3, 4 
(C) 2, 3, 1, 4 
(D) 3, 1, 4, 2 
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34. Match the list-I and list-II and select 
the correct answer following the code 
given below :  
 List-I  List-II 
a. Warsaw 

Pact  
(i) Western 

Military 
Organization 

b. U.N.O. (ii) Economic 
Organization 

c. NATO (iii) Communist 
Military 
Organization 

d. European 
Union 

(iv) International 
Organization  

 

Codes : 
 a b c d 
(A) iii iv i ii 
(B) i ii iii iv 
(C) ii i iv iii 
(D) iv iii ii i 

 

 34. lwph&I o lwph&II dk feyku dhft, 
rFkk dwV }kjk lgh mÙkj dk p;u 
dhft, % 
 lwph&I  lwph&II 
a. okjlk 

iSDV 
(i) if'peh lSfud 

laxBu 
b. la;qDr 

jk”Vª la?k 
(ii) vkfFkZd laxBu 

c. ukVks (iii) lkE;oknh 
lSfud laxBu 

d. ;wjksfi;u 
la?k 

(iv) vUrjkZ”Vªh; 
laxBu 

dwV : 
 a b c d 
(A) iii iv i ii 
(B) i ii iii iv 
(C) ii i iv iii 
(D) iv iii ii i 

 

35. Which of the following was not an 
organization within the League of 
Nations : 
(A)   Commission for Refugees 
(B) International Military Board 
(C) Slavery Commission 
(D) None of these 

 35. fuEufyf[kr esa ls dkSu lk laxBu 
jk"Vªla?k ds vUrxZr ugha vkrk Fkk % 
(A) ‘kj.kkfFkZ;ksa gsrq vk;ksx 
(B) vUrjkZ”Vªh; lSU; cksMZ 
(C) nklrk vk;ksx 
(D) buesa ls dksbZ ugha 

36. What were the main reasons of the 
failure of League of Nations : 
(A)   Selfishness of big Nations  
(B) Powerlessness of League of 

Nations  
(C) Aggressive Policies of Hitler 
(D) All of the above 

 36. jk"Vªla?k ds vlQyrk ds izeq[k dkj.k 

D;k Fks % 

(A) cM+s jk”Vªksa dh LokFkZijrk 

(B) jk"Vªla?k dh ‘kfDr&ghurk 

(C) fgVyj dh vkØked uhfr;k¡ 

(D) mi;qZDr lHkh 
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37. The official languages of the League 
of Nations were : 
(A)   French and English 
(B) English and Arabic 
(C) French and Italian 
(D) Spanish and Arabic 

 37. jk"Vªla?k dh vkf/kdkfjd Hkk”kk Fkh %  

(A) Ýsap vkSj vaxzsth 

(B) vaxzsth vkSj vjch 

(C) Ýsap vkSj bVsfy;u 

(D) Lisfu’k vkSj vjch 

38. Where was the headquarters of 
League of Nations established : 
(A)   Rome 
(B) Geneva 
(C) Washington 
(D) Paris 

 38. jk”Vªla?k dk eq[;ky; dgk¡ LFkkfir Fkk % 

(A) jkse  

(B) tsusok 

(C) okf’kaxVu 

(D) isfjl 

39. The League of Nations was created 
by what treaty : 
(A)   Treaty of Ghent 
(B) Treaty of Paris 
(C) Treaty of Versailles 
(D) None of these 

 39. jk"Vª la?k dh LFkkiuk fdl laf/k }kjk dh 

x;h Fkh % 

(A) xSUVks dh lfU/k 

(B) isfjl dh lfU/k 

(C) olkZ; dh lfU/k 

(D) buesa ls dksbZ ugha 
40. Which one of the following is not a 

organ of the League of Nations : 
(A)   Assembly 
(B) Council 
(C) Permanent Secretariat 
(D) The Economic and Social 

Council 

 40. fuEufyf[kr esa ls jk”Vª la?k dk dkSu ,d 

vax ugha gS % 

(A) lHkk 

(B) ifj”kn 

(C) LFkk;h lfpoky; 

(D) vkfFkZd ,oa lkekftd ifj”kn  

41. How many constitutional organs of 
League of Nations were :  
(A)   1 
(B) 2 
(C) 3 
(D) 8 

 41. jk"Vª la?k ds fdrus laoS/kkfud vax Fks% 

(A) 1 

(B) 2 

(C) 3 

(D) 8 
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42. Which of the following was not a 

permanent member of the council of 

League of Nations in 1920 : 

(A)   Britain 

(B) Italy 

(C) China 

(D) France 

 42. fuEufyf[kr esa ls dkSu ,d lu~ 1920 esa 

jk”Vª la?k dh ifj”kn dk LFkk;h lnL; 

ugha Fkk %  

(A) fczVsu 

(B) bVyh 

(C) phu 

(D) Ýkal 

43. Which Country did not join the 
League of Nation ? 
(A)   U.S.A. 
(B) Britain 
(C) France 
(D) Italy 

 43. fdl ns’k us jk”Vª la?k dh lnL;rk ugha 

yh \ 

(A) vesfjdk 

(B) fczVsu 

(C) Ýkal 

(D) bVyh 

44. The main aims of League of Nations 

were :  

(A)   Disarmament 

(B) Preventing war through 

collective security 

(C) Setting disputes between 

countriesthrough negotiation 

and diplomacy 

(D) All of the above 

 44. jk"Vª la?k dk eq[; y{; Fkk % 

(A) fu%’kL=hdj.k 

(B) lkewfgd lqj{kk }kjk ;q) dks jksduk 

(C) jk”Vªksa ds chp fooknksa dk ckrphr 

,oa dwVuhfr }kjk lek/kku djuk 

(D) mi;ZqDr lHkh 

45. Which body was the ‘League of 
Nations’ Parliament : 
(A)   The Council 
(B) The Secretariat 
(C) The Assembly 
(D) International Court 

 45. dkSu lk vax jk”Vª la?k dh fo/kkf;dk Fkh % 

(A) ifj”kn  

(B) lfpoky; 

(C) lHkk 

(D) vUrjkZ”Vªh; U;k;ky; 
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46. Who had given the “Fourteen Point” 
programme for the formation of 
League of Nations : 
(A)   Williamson 
(B) U. Thant 
(C) Woodrow Wilson 
(D) Roosevelt 

 46. jk"Vª la?k ds xBu ds fy;s ^^pkSng lw=h** 

dk;ZØe fdlus fn;k Fkk % 

(A) fofy;elu 

(B) ;wŒ FkkaV 

(C) oqMjks foYlu 

(D) :tosYV 

47. What year did the League of Nation 
begin : 
(A)   1920 
(B) 1930 
(C) 1939 
(D) 1945 

 47. jk"Vª la?k dh LFkkiuk dc gqbZ % 

(A) 1920 

(B) 1930 

(C) 1939 

(D) 1945 

48. Which organization is termed as ‘A 
Child of War’ : 
(A)   League of Nations 
(B) UNO 
(C) NATO 
(D) UNESCO 

 48. dkSu lk laxBu ^;q) dk f’k’kq* dgykrk 
gS % 
(A) jk”Vªla?k 
(B) la;qDr jk”Vª la?k 
(C) ukVks 
(D) ;wusLdks 

49. The concept of the ‘League of 
Nations’ was originated in ideas of  : 
(A)   Roosevelt 
(B) Woodrow Wilson 
(C) Martin White 
(D) Churchil 

 49. fuEu esa ls fdlds fopkjksa ls ^jk”Vªla?k* 
dh ladYiuk dk mn; gqvk% 
(A) :tosYV 
(B) oqMjks foYlu 
(C) ekfVZu OgkbV 
(D) pfpZy 

50. What was the time period of First 
World War ? 
(A) 1911-1914 
(B) 1914-1918 
(C) 1918-1922 
(D) 1922-1933 

 50. izFke fo’o;q) dk dky [k.M D;k Fkk \ 
(A) 1911&1914 
(B) 1914&1918 
(C) 1918&1922 
(D) 1922&1933 
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51. Match the List-I and List-II and select 
the correct answer following the code 
which given below : 
 List-I  List-II 
a. Economic 

Organization 
1 NATO 

b. Military 
Organization 

2 World 
Bank 

c. Political 
Organization 

3 U.N.O. 

d. Regional 
Organization 

4 SAARC 

 
 a b c d 
(A) 2 1 3 4 
(B) 1 3 2 4 
(C) 2 4 3 1 
(D) 4 3 2 1 

 

 51. lwph&I o lwph&II dk feyku dhft, 

rFkk dwV }kjk lgh mÙkj dk p;u 

dhft, % 
 lwph&I  lwph&II 
a. vkfFkZd 

laxBu 

1 ukVks 

b. lSfud laxBu 2 fo'o cSad 
c. jktuhfrd 

laxBu 

3 la;qDr jk”Vª 

la?k 
d. {ks=h; laxBu 4 n{ksl ¼lkdZ½ 

 

 a b c d 
(A) 2 1 3 4 
(B) 1 3 2 4 
(C) 2 4 3 1 
(D) 4 3 2 1 

 

52. “SAARC” represents which region: 

(A)   South Asia 

(B) West Asia 

(C) South-East Asia 

(D) East Asia  

 52. n{ksl (SAARC) fdl {ks= dk 

izfrfuf/kRo djrk gS% 

(A) nf{k.k ,f’k;k 

(B) if’pe ,f’k;k 

(C) nf{k.k&iwoZ ,f’k;k 

(D) iwohZ ,f’k;k 

53. Which of the following Countries is 
not a member of SAARC :  
(A)   India 
(B) Bhutan 
(C) Maldives 
(D) Thailand 

 53. fuEufyf[kr ns’kksa esa ls dkSu ,d lkdZ ¼ 

SAARC½ dk lnL; ugha gS% 

(A) Hkkjr 

(B) HkwVku 

(C) eky}hi 

(D) FkkbZyS.M 
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54. Where is the Secretariat of SAARC : 
(A)   New Delhi 
(B) Colombo 
(C) Kathmandu 
(D) Islamabad 

 54. lkdZ dk lfpoky; dgk¡ ij fLFkr gS% 

(A) ubZ fnYyh 

(B) dksyEcks 

(C) dkBek.Mw 

(D) bLykekckn 

55. SAARC was established in 1985, 

what is the full form of this 

Organization : 

(A)   South Asian Association for 

Regional Cooperation 

(B) Southern Asia Association of 

Regional Cooperation 

(C) Southern Asiatic Associate for 

Regional Cooperation 

(D) None of these 

 55. lkdZ 1985 esa LFkkfir gqqvk Fkk] bl 

laxBu ¼ SAARC½ dk iw.kZ :i D;k gS % 

(A) lkmFk ,f’k;u ,’kksfl,’ku QkWj 

jhtuy dksijs’kuA 

(B) lkmnuZ ,f’k;u ,’kksfl,’ku QkWj 

jhtuy dksijs’kuA 

(C) lkmnuZ ,f’k;kfVd ,’kksfl,V QkWj 

jhtuy dksijs’kuA 

(D) buesa ls dksbZ ugha 

56. From among the following India is a 

member of which Organization : 

(A)   NATO 

(B) SEATO 

(C) CENTO 

(D) SAARC 

 56. fuEufyf[kr esa ls Hkkjr fdl laxBu dk 

lnL; gS % 

(A) ukVks 

(B) lhVks 

(C) ls.Vks 

(D) lkdZ 

57. Who was the founder of “Council for 

Mutual Economic Assistance” : 

(A)   Mao 

(B) Stalin 

(C) Ban-Ki-Moon 

(D) U. Thant 

 57. ^^n dkmfUly QkWj E;qpqvy bdksukWfed 

vflLVsUl** ds laLFkkid dkSu Fks %  

(A) ekvks 

(B) LVkfyu 

(C) cku&dh&ewu  

(D) ;wŒ Fkk.V 



Series-D B.A.LL.B601/ 383 Page - 17 

58. When was Comecon established : 
(A)   25 January 1949 
(B) 05 January 1960 
(C) 01 January 1985 
(D) None of these 

 58. Comecondc LFkkfir gqvk Fkk % 
(A) 25 tuojh 1949 dks 
(B) 05 tuojh 1960 dks 
(C) 01 tuojh 1985 dks 
(D) buesa ls dksbZ ugha 

59. Which of the following Country is not 
the member of the EU : 
(A)   Austria 
(B) Malta 
(C) Switzerland 
(D) Cyprus 

 59. fuEufyf[kr esa ls dkSu lk ns’k ;wjksih; 
la?k dk lnL; ugha gS % 
(A) vkWfLVª;k 
(B) ekYVk 
(C) fLoV~tjyS.M 
(D) lkbizl 

60. Currently how many members are in 
the European Union : 
(A)   12 
(B) 27 
(C) 30 
(D) 53 

 60. orZeku esa ;wjksih; la?k esa fdrus lnL; 
ns’k gSa %  
(A) 12 
(B) 27 
(C) 30 
(D) 53 

61. Recently, India became a member of 
the executive board of which 
organization again for the year 2021 
to 2025 : 
(A)   UNESCO 
(B) Arab League 
(C) European Union 
(D) African Union 

 61. vHkh gky esa gh o”kZ 2021 ls 2025 ds 

fy, Hkkjr fdl laxBu ds dk;Zdkjh cksMZ 

dk iqu% lnL; cuk % 

(A) ;wusLdks 

(B) vjc yhx 

(C) ;wjksih; la?k 

(D) vÝhdh la?k 

62. OAS stand for : 

(A)   Organization of Ajmeri States 

(B) Organization of American States 

(C) Office of African States 

(D) Office of American States 

 62. OASdk iw.kZ :i  gS % 

(A) vkxZukbts’ku vkWQ vtesjh LVsV 

(B) vkxZukbts’ku vkWQ vesfjdu LVsV 

(C) vkWfQl vkWQ vfÝdu LVsV 

(D) vkWfQl vkWQ vesfjdu LVsV 
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63. Where is the Headquarters of African 

Union located : 

(A)   Addis Ababa, Ethiopia  

(B) Nairobi, Kenya 

(C) Johannesburg, South Africa 

(D) Cape Town, South Africa 

 63. vÝhdh la?k dk eq[;ky; dgk¡ fLFkr gS % 

(A) vnhl vckck] bfFk;ksfi;k  

(B) uSjksch] dsU;k  

(C) tksgkUlcxZ] nf{k.k vÝhdk  

(D) dsi Vkmu] nf{k.k vÝhdk 

64. Arab League is comprised of how 

many member Countries : 

(A)   18 

(B) 20 

(C) 22 

(D) 30 

 64. vjc yhx fdrus lnL; ns’kksa ls feydj 

cuh gS % 

(A) 18 

(B) 20 

(C) 22 

(D) 30 

65. The European Union Organization 

consists of : 

(A)   A court of justice 

(B) European Commission and a 

council of Ministers 

(C) An European Parliament   

(D) All of the above 

 65. ;wjksih; la?k xfBr gksrk gS % 

(A) U;k;ky; 

(B) ;wjksih; vk;ksx rFkk efU=ifj”kn~ 

(C) ;wjksih; laln 

(D) mi;qZDr lHkh 

66. What do you mean by Third World : 
(A)   Africa, Europe and Latin 

America  
(B) Asia, Africa and Latin America 
(C) Australia, America and Europe  
(D) Asia, Europe and America 

 66. rr̀h; fo’o ls vfHkizk; gS %  

(A) vÝhdk] ;wjksi vkSj ykrhuh vesfjdk 

(B) ,f’k;k] vÝhdk vkSj ykrhuh 

vesfjdk 

(C) vkLVªsfy;k] vesfjdk vkSj ;wjksi 

(D) ,f’k;k] ;wjksi vkSj vesfjdk 
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67. Match List-I with List-II and select 

the correct answer using the codes 

given below the lists :  

 List-I  List-II 

a. World 

Environment 

Day  

1 24th 

October 

b. World Yoga 

Day  

2 5th June 

c. United 

Nations Day 

3 10th 

December 

d. Human 

Right Day  

4 21st June 

 

Codes : 
 a b c d 
(A) 1 2 3 4 
(B) 4 3 2 1 
(C) 2 1 3 4 
(D) 2 4 1 3 

 

 67. lwph&I dks lwph&II ls lqesfyr dhft, 

vkSj lwfp;ksa dks uhps fn, x, dwV dk 

iz;ksx dj lgh mÙkj nhft,%  

 lwph&I  lwph&II 

a. fo'o i;kZoj.k 

fnol 

1 24 vDVwcj 

b. fo'o ;ksx fnol 2 5 twu 

c. la;qDr jk”Vª 

fnol 

3 10 fnlEcj 

d. ekuokf/kdkj 

fnol 

4 21 twu 

dwV % 
 a b c d 
(A) 1 2 3 4 
(B) 4 3 2 1 
(C) 2 1 3 4 
(D) 2 4 1 3 

 
 

68. Which is not a pact : 

(A)   NATO 

(B) SEATO 

(C) Warsaw Pact 

(D) Arab League 

 68. fuEufyf[kr esa ls dkSu lk ,d lSfud 

laxBu ugha gS % 

(A) ukVks 

(B) lhVks 

(C) okjlk iSDV 

(D) vjc yhx 
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69. The first conference of NAM was 

held at : 

(A)   Lusaka 

(B) Dhaka 

(C) Belgrade 

(D) New Delhi 

 69. xqVfujis{k vkanksyu dk izFke lEesyu 

gqvk Fkk % 

(A) yqlkdk esa  

(B) <kdk esa  

(C) csYxzsM esa  

(D) ubZ fnYyh esa  

70. Agenda-21 is related to : 

(A)   Environment 

(B) Terrorism 

(C) Education 

(D) Population 

 70. ,ts.Mk&21 lacaf/kr gS % 

(A) i;kZoj.k ls 

(B) vkradokn ls 

(C) f’k{kk ls  

(D) tula[;k ls 

71. OPEC is related to : 

(A)   Oil Exported Nations 

(B) Developed Countries 

(C) Developing Countries 

(D) None of these 

 71. vksisd ¼OPEC½ dk laca/k gS % 

(A) rsy fu;kZrd jk”Vªksa ls  

(B) fodflr jk”Vªksa ls  

(C) fodkl’khy jk”Vªksa ls  

(D) buesa ls dksbZ ugha 

72. Founders of Non-alignment were :  
(A)   Tito, Nasir, Nehru 
(B) Tito, Kennedy, Roosevelt 
(C) Nehru, Gandhi, Patel 
(D) Nasir, Tito, Gandhi  

 72. xqV&fujis{krk ds laLFkkid Fks %  

(A) VhVks] ukflj] usg: 

(B) VhVks] dSusMh] :tosYV 

(C) usg:] xk¡/kh] iVsy 

(D) ukflj] VhVks] xk¡/kh 

73. Where is the Headquarters of the 
W.T.O. located ?  
(A)   Austria 
(B) Geneva 
(C) New York 
(D) Washington DC 

 73. fo'o O;kikj laxBu dk eq[;ky; dgk¡ 

fLFkr gS %  

(A) vkWfLVª;k 

(B) tsusok 

(C) U;w;kdZ 

(D) okf’kaxVu Mhlh 
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74. The UNCTAD was established in 
1964 and was Headquartered 
in………. : 
(A)   Greece 
(B) New York 
(C) Geneva 
(D) Washington 

 74. vadVkM dh LFkkiuk 1964 esa gqbZ Fkh vkSj 
bldk eq[;ky; ---------------------- esa Fkk % 
(A) ;wuku 
(B) U;w;kdZ 
(C) tsusok 
(D) okf’kaxVu 

75. NAFTA stands for : 
(A)   North Asian Free Trade 

Agreement 
(B) Non American Free Trade 

Agreement 
(C) North American Free Trade 

Agreement 
(D) None of these 

 75. Ukk¶Vk ¼NAFTA½ dk iw.kZ :i gS % 

(A) ukFkZ ,f’k;u Ýh VªsM ,xzhes.V 

(B) uku vesfjdu Ýh VªsM ,xzhes.V 

(C) ukFkZ vesfjdu Ýh VªsM ,xzhes.V 

(D) buesa ls dksbZ ugha 

76. The main promoter of trade 
liberalization and settlement of 
dispute is : 
(A)   EU 
(B) WTO 
(C) ILO 
(D) NAFTA 

 76. O;kikj mnkjhdj.k vkSj fookn ds fuiVkjs 
dk eq[; izorZd gS % 
(A) ;wjksih; la?k 
(B) fo’o O;kikj laxBu 
(C) vUrjkZ”Vªh; Je laxBu 
(D) uk¶Vk 

77. Which is refereed as predecessor of 
WTO : 
(A)   IMF 
(B) NAFTA 
(C) SAFTA 
(D) GATT 

 77. fo'o O;kikj laxBu ds iwoZorhZ ds :i esa 
fdls lanfHkZr fd;k tkrk gS % 
(A) vUrjkZ”Vªh; eqnzk dks”k 
(B) uk¶Vk 
(C) lk¶Vk 
(D) xSV 

78. The terms TRIPs and TRIMs are 
related to : 
(A)   NAFTA 
(B) SAFTA 
(C) W.T.O. 
(D) World Bank 

 78. TRIP ¼fVªi½ vkSj TRIM ¼fVªe½ ‘kCn 

fdlls lacaf/kr gS % 

(A) uk¶Vk 

(B) lk¶Vk 

(C) fo’o O;kikj laxBu 

(D) fo’o cSad 
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79. The World Trade Organization 

(W.T.O.) formed on 1st January 

……….. : 

(A)   1990 

(B) 1995 

(C) 1997 

(D) 1999 

 79. fo'o O;kikj laxBu ¼W.T.O.½ dk xBu 

1 tuojh lu~ ------------------- dks gqvk Fkk % 

(A) 1990 

(B) 1995 

(C) 1997 

(D) 1999 

80. Which Organization sets rules for 

International trade : 

(A)   World Trade Organization  

(B) International Labour 

Organization 

(C) Food and Agriculture 

Organization 

(D) World Health Organization 

 80. dkSu lk laxBu vUrjkZ”Vªh; O;kikj ds 

fy, fu;e fu/kkZfjr djrk gS % 

(A) fo’o O;kikj laxBu 

(B) vUrjkZ”Vªh; Je laxBu 

(C) [kkn~; ,oa Ñf”k laxBu 

(D) fo’o LokLF; laxBu 

81. How many members are there in 

South Commission : 

(A)   20 

(B) 25 

(C) 28 

(D) 30 

 81. nf{k.k vk;ksx esa fdrus lnL; gksrs gSa%  

(A) 20 

(B) 25 

(C) 28 

(D) 30 

82. South-South is the forum for 

dialogue: 

(A)   NAM 

(B) UNCTAD 

(C) SAARC 

(D) All of the above 

 82. nf{k.k&nf{k.k laokn dk eap gS % 

(A) use ¼NAM½ 

(B) vadVkM ¼UNCTAD½ 

(C) lkdZ ¼SAARC½ 

(D) mi;qZDr lHkh 
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83. When was G-77 established : 
(A)   1945 
(B) 1948 
(C) 1960 
(D) 1964 

 83. th&77 dh LFkkiuk dc gqbZ Fkh %  
(A) 1945 
(B) 1948 
(C) 1960 
(D) 1964 

84. G-15 a group of : 
(A)   Companies 
(B) Developing Countries 
(C) Developed Countries 
(D) All of above 

 84. th&15 lewg gS % 
(A) dEifu;ksa dk 
(B) fodkl’khy ns’kksa dk 
(C) fodflr ns’kksa dk 
(D) mi;qZDr lHkh dk 

85. In which year South-South dialogue 
started : 
(A)   1965 
(B) 1968 
(C) 1970 
(D) 1980 

 85. nf{k.k&nf{k.k laokn fdl o”kZ izkjEHk gqvk% 
(A) 1965 
(B) 1968 
(C) 1970 
(D) 1980 

86. What is mean by North-South 
dialogue : 
(A)   North direction and South 

direction 
(B) Eastern communist countries 

and Western countries 
(C) North symbolizes rich countries 

while South represents 
developing Countries 

(D) None of these 

 86. mÙkj&nf{k.k laokn dk D;k vFkZ gS % 

(A) mÙkj fn’kk vkSj nf{k.k fn’kk 

(B) iwohZ lkE;oknh ns’k o if’peh ns’k 

(C) mÙkj vehj ns’kksa dk izrhd gS] 

tcfd nf{k.k esa fodkl’khy ns’k 

vkrs gSa  

(D) buesa ls dksbZ ugha 

87. Of which aims promotion ASEAN 
was established :   
(A)   Regional Cooperation 
(B) Economic Cooperation 
(C) Social and cultural Cooperation 
(D) All of the above 

 87. vkfl;ku dh LFkkiuk fdu mn~n’;ksa dh 

iwfrZ ds fy, dh xbZ Fkh % 

(A) {ks=h; lg;ksx 

(B) vkfFkZd lg;ksx 

(C) lkekftd vkSj lkaLÑfrd lg;ksx 

(D) mi;ZqDr lHkh 
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88. How many members are there in 

ASEAN : 

(A)   10 

(B) 25 

(C) 85 

(D) 100 

 88. vkfl;ku dh lnL; la[;k fdruh gS% 

(A) 10 

(B) 25 

(C) 85 

(D) 100 

89. When did India join the 

Commonwealth : 

(A)   1935 

(B) 1942 

(C) 1947 

(D) 1952 

 89. Hkkjr jk”Vªe.My dk lnL; dc cuk% 

(A) 1935 

(B) 1942 

(C) 1947 

(D) 1952 

90. Who is the symbolic head of 

Commonwealth : 

(A)   British Prime Minister 

(B) Alternatively British and French 

Prime Minister 

(C) Queen Elizabeth II 

(D) None of these 

 90. jk"Vªe.My dk izrhdkRed izeq[k dkSu gS % 

(A) fczfV’k iz/kkueU=h  

(B) oSdfYid :i ls fczfV’k vkSj 

Ýkalhlh iz/kkueU=h  

(C) egkjkuh ,fytkcsFk f}rh; 

(D) blesa ls dksbZ ugha 

91. Fiji lost Commonwealth membership 

due to the military coup in 1987. 

When was Fiji rein-stated :  

(A)   1994 

(B) 1995 

(C) 1996 

(D) 1997 

 91. 1987 esa lSU; r[rkiyV ds dkj.k fQth 
us jk”Vªe.My dh lnL;rk [kks nh FkhA 
fQth dks iqu% dc cgky fd;k x;k Fkk % 
(A) 1994 
(B) 1995 
(C) 1996 
(D) 1997 
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92. The Commonwealth Games are held 
every ………… : 
(A)   3 years 
(B) 4 years 
(C) 5 years 
(D) 6 years 

 92. jk"Vªe.My [ksyksa dk vk;kstu izR;sd ---------
------------ esa gksrk gS % 
(A) 3 o”kZ 
(B) 4 o”kZ 
(C) 5 o”kZ 
(D) 6 o”kZ 

93. At present how many States in 
Commonwealth : 
(A)   45 
(B) 48 
(C) 54 
(D) 60 

 93. jk"Vªe.My esa orZeku esa fdrus lnL; ns’k 
gSa % 
(A) 45 
(B) 48 
(C) 54 
(D) 60 

94. Where is Headquarters of 
Commonwealth of Nations : 
(A)   London 
(B) Paris  
(C) Geneva 
(D) Tokyo 

 94. jk"Vªe.My dk eq[;ky; dgk¡ gS % 

(A) yanu 

(B) isfjl 

(C) tsusok 

(D) Vksfd;ks 

95. When Commonwealth was 
established : 
(A)   1931 
(B) 1940 
(C) 1942 
(D) 1947 

 95. jk"Vªe.My dh LFkkiuk dc gqbZ Fkh % 

(A) 1931 

(B) 1940 

(C) 1942 

(D) 1947 

96. Which Country is called the special 

member of the Commonwealth of 

Nations : 

(A)   Tonga 

(B) Fiji 

(C) Belize 

(D) Tuvalu 

 96. jk"Vªe.My jk”Vªksa esa fdl ns’k dks fo’ks”k 

lnL; dgk tkrk gS %  

(A) Vksaxk 

(B) fQth 

(C) csyht 

(D) rqokyq 
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97. What is the term of office for 
Commonwealth Secretary General : 
(A)   2 years 
(B) 3 years 
(C) 4 years 
(D) 6 years 

 97. jk"Vªe.My egklfpo ds dk;kZy; dk 

dk;Zdky fdrus vof/k dk gS % 

(A) 2 o”kZ 

(B) 3 o”kZ 

(C) 4 o”kZ 

(D) 6 o”kZ 
98. Which was Britain’s largest colony 

that joined Commonwealth : 
(A)   Australia 
(B) India 
(C) South Africa 
(D) Sierra Leone 

 98. fczVsu dk lcls cM+k mifuos’k dkSu Fkk 
tks jk”Vªe.My esa ‘kkfey gqvk % 
(A) vkLVªsfy;k 
(B) Hkkjr 
(C) nf{k.k vÝhdk 
(D) fl;jk fy;ksu 

99. Which important declaration was 
adopted in 1949 : 
(A)   Singapore Declaration 
(B) London Declaration 
(C) Harare Declaration 
(D) Lusaka Declaration 

 99. 1949 esa dkSu lh egRoiw.kZ ?kks”k.kk dks 
viuk;k x;k Fkk % 
(A) flaxkiqj ?kks”k.kk 
(B) yanu ?kks”k.kk 
(C) gjkjs ?kks”k.kk 
(D) yqlkdk ?kks”k.kk 

100. Which British Politician coined the 
term “Commonwealth of Nations” in 
1884   
(A)   Lord Reseburg 
(B) Lord George Battimore 
(C) Lord George Byron 
(D) None of these 

 100. fdl fczfV’k jktusrk us 1884 esa 

^^jk”Vªe.My** ‘kCn x<+k Fkk % 

(A) ykWMZ jslcxZ 

(B) ykWMZ tkWtZ cÙkheksj 

(C) ykWMZ tkWtZ ck;ju  

(D) buesa ls dksbZ ugha 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


